Potencias de 10 (I)

2.029 +10?

7.9203 = 10?

1.1829 = 102

1.4044 =107

3.7636 = 10?

6.9554 +10?

5.5557 = 10?

4.5602 +10°

1.6302 + 107

9.7739 = 10?

Calcule los siguientes cocientes.

5.4135+10°

2.387 = 102

3.5462 + 107

1.5194 + 107

4.3693 + 107

5.6921 = 10?2

4.6532 + 107

2.1215 =102

6.0193 +10?

9.1398 +10?
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Potencias de 10 (I) Respuestas

2.029 + 102
0.02029
7.9203 + 10?
0.079203
1.1829 + 10?
0.011829
1.4044 = 10°
0.014044
3.7636 +~ 10?
0.037636
6.9554 + 107
0.069554
5.5557 + 107
0.055557
4.5602 = 10?
0.045602
1.6302 + 102
0.016302
9.7739 + 10?
0.097739

Calcule los siguientes cocientes.

5.4135+107
0.054135
2.387 +10?
0.02387
3.5462 <+ 10?
0.035462
1.5194 + 102
0.015194
4.3693 = 10?
0.043693
5.6921 +107
0.056921
4.6532 + 102
0.046532
2.1215+107
0.021215
6.0193 107
0.060193
9.1398 + 10°
0.091398
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